w #1.4

| i
! MET IR0 | <tevew BLEA

HAmpap

| Df‘O\W/./y ' 5

JrouEm. fiun Jhe force everded by Lhe 5900775 6% a
PomP Par,l/a//}/ Submf’/jéd in o/l es Sj .92

___Cj_'_!_e_n__" Lué\/jé?‘ /ﬂuﬂ'}ﬂ> 3 /9/(/ 5 k Suémf/ﬁg@/ Vo fom & = ¥4

‘_,/'/0 ump

//-O//

[
5}?&

SPrings ¥ o

é.QA_J_"[LQC’—_“_ nted Yo f;nq/ %AL w[o/cc o+ booyanCy or

sV mffjﬁo/ P@’% Ov/: %Ae. pornp s

}'gftc.é%y = \/cl ,K;/ = 5;0CC/7[)/C, MjA’Za *[o;/
& : '5p/a mM?/ °7Z5 Ame’fta/
Sj = ,Ym'/ -Cram (/“5’)/'7 Aook ‘é O) g i ’
XY/

Y = Sg X6 bR = B9 oz d lifews
Yy) = S b)9s3

\/d: 4/?%"/\( P.8935¢40 | o Frag PO

P/lij Knawn Va/ucj //)“/:7 e?ua?l/or) ‘fo/ @/CL Ké)m/@ ‘
FDfC—Cé’JIY

fnC& ,OU/V),O /,S 007A /)’70//“7 a,// foC“ 1) >( a/ '“CC7//0,4 _-ﬂ
Since Spf/njs Sopport Veritte

| SO/ 26 :ﬁ EoF 4 ﬁarca i +E>rce_5f,r - W /d

3

=¥, x W = 566 L%c;fx 28230 $47
F“b = 1.323 |b

/// we are only Concerned )/ Forces 7

/grccspﬁcj = - ;Or‘°buoy - /L/(g 5 — i 303/b

Z/:Brcéspflzaf: lB-Z—C?7 li‘)ﬂ\

pump




Hw #1.4 iMéT 330 l <Srever) RLEA

Hmeap

To_g?"i d‘Sfi“,r/'r\éx?yi Us/omme of Jhe boot

Problem #5 .1 . I3 Jhe boat prctured f/ju/e, Stable” |
Guen . boat dimenspons are. 5.5m Zoyx 2. 9mwWide x |- Im Hrg
506,%#9@4 Ae,’ﬁ}%\bao\% = |.8m

SN

me'ng) . . g
B 44 r (4 'L{m }\ =t s
1.5m L :
’J%-’X)LCFO 55 §€C7i/or7

‘§D/LJ7L/0/7,' Need %La CG\/CQ/ﬂ\Jé o een Owc LrosSS )‘cm;[/(;/)

Aes = Prec + Pitionye Bree = 2.4 ¢ (1.50=Biom 03
Blrosg suoe 2rB Tt . T2* Bk BTl 2= L iR
A= 3om™ Aversle= Yo (B lomx2m)= @ T

Area ol Submerjui port ol boat !
ASub o (i.Sm-IZfIMW(Z"{mB o 71 (@'(ano VZ.‘v’m) = 2. 88m"
Cendroid ot the wlsle area.

~

>é\7 2 /'W, +A, Vo k (Z_xl.“(y,ﬁb) )é%/ié(/.zyz.q\)x(o& Fm
3.6 |

Aot ‘

Centroig o@W oreo. "
>/Cswbm'§cd :A- 7, “'AZ y'( - (yz XZ'L{ y@.(a> X’ZAA +‘(‘@?VZ’L0¥(¢‘(’ "L‘@—g-)
Asob 1'32(
Pestreged = 3.8375

Vi = A X Length = 280wt % 5.5m = 15,34 w3




g’ Hw # 1.4 ! MET 3305 L_Sj?;uezu B LA

= i E rob/gm #5(07 ng)f

[
. Mor Do« e B TR 93 > £:335C !

e Z Ny MB = Bggas Bdm = 12875,

17 Cender of grevity s éf,/aw M e c ondor bsat /5 5‘46@
}/mc >)/g7

IS o A
baa# ;S S;i‘é/é

~—~—————

Pvpan

T ————

————



Steven Blea
MET 330
HW 1.4, Part 2
Test Chosen: Test 1 (Spring 2016)

Problem #1 — When initially reading the problem and seeing the displacement of the Mercury at P1 =5
psiis hl, | immediately thought that increasing the pressure to 10 psi, which is double the initial
pressure would cause the height of the Mercury to also double. After reading through the solution and
following along with the calculations of course that was not the case. The height did not increase by
double, but instead, increased by slightly less than half. This seems to be due to the difference between
gamma for Water and gamma for Mercury. Mercury is much denser than Water so increasing the
pressure of Water by double does not translate to an increase in the level of the Mercury by double.

Problem #2 — While reviewing problem 2 there were many equations that | had not remembered from
statics and strength of materials such as the equation for Lp. | had to review the problem many times to
understand how and where the variable came in to play. Also, initially, | assumed the distance (w) the
guestion was asking for was equal to the length of the door the water was touching. | quickly realized
that was not the case and that we needed to figure out the distance (w) so that the center of the mass
of the gate was positioned so that the force of the water was keeping the gate in a balanced position.

Problem #3 — This problem was very unfamiliar to me since | did not select to do a problem from the
homework like this. | was able to follow along with the solution based on what we went over in class.
Before the test | will complete a few practice problems similar to this one so that | will be able work
problems like this in the future. The problem is basically the differences in the forces of the weight of
the ball and air going down minus the force of buoyancy divided by the mass of the steel and air. To find
the thickness of equilibrium the weight of the steel needs to equal the force of buoyancy (water
displaced)

Problem #4 — This problem was very difficult for me to follow. | understand what the calculations
represent, but | could not come up with the equations on my own. | will look to solve a few example
problems from the book. | hope that it will help me to better understand.



